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Intermediate Value Theorem
If fis continuous on the closed interval [a,b] and k is any number between
f(a) and f{b), then there is at least one number c in [a,b] such that f{c)=k.
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Does the IVT guarantee a zero in the given interval?
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Homework for Test #1:

HW#1 (submitted Mon. 11/12)

e 1.2 #1-70dd,9-18all

* 1.2 #23, 25,27, 29, 30, 31 epsilon-delta
e 1.3#11,17,27-350dd,

HW#2 (due Mon. 11/187)
1.3 #39-610dd (<-- not listed on your syllabus!)
* 1.3#67-770dd; 87, 88 (<-- notlisted on your syllabus!)
* 1.4 #7-170dd; 25-28all; 39-470dd; 57, 59
* 1.4 #19,21,23,51,63,69,71,83,85
» Test #1 Practice Problems

Quiz #1 - Take-home; due Friday 11/15
Test #1 - Wednesday, 11/20
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